You have drifted
into another gas
cloud. Use your
gravity to pull in
more hydrogen
as you go around | - .
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Start Here-Collect 10

Gas cloud
scatters-lose
2 hydrogen

Gas cloud
combines
with another,
collect 2 “H”

@ | Gascloud
o combines
with another,
collect 4 “H”




Main sequence
star fuses 6 H
to form 3 He.

Gas cloud giant-
collect 6 more H

Protostar
forms slowly-
skip next turn

Protostar
forms

Main sequence
star fuses 4 H
to for 2 He.

Nuclear fusion begins!
Fuse 2 of your “H” to for
one Helium “He”




White dwarf-skip a turn

Red Giant-Fuse 2
He to form Be

Oops, brown dwarf-
not enough “He” to

continue-keep your
atoms and start over

Nuclear fusion
fuses all your
“H” to “He”




Supernova-

| fuse any 3 pair

of atoms

Supernova-Fuse
any 2 pair of atoms
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Nova-Core collapses,
fuse any two atoms
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Continue stellar
evolution-fuse two
atom pairs

Continue stellar
evolution-fuse three
atom pairs




